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Array_dim: The array “face_value bill” refer to “array dim” value, For
example, when “array_ dim” is equal to zero, the “face_vaule_billlarray_dim]”
means that system choose the 500 face value bill as a part change which should
be return to customer.

(d) You should get the result as following graphic:

dellars = 1
dollars » 1
dellars * 1

fse dollars = 1
18 dollavs » 2
5 dollawxs * 1

2. Give your answer briefly and precisely for these questions below:
(a) What’s the difference between “Call by Value” and “Call by Reference”? (4
marks )

(b) Moreover, when one of C language Functions will return over 2 parameters,
which one is suitable to use? Why?( 4 marks)

3. Please write down the final values of x | //Program #3.
and y when the program is executed.  #include<stdio.h>
x= 6% |
y= 6% | void swap(int *px, int *py);
. int main()
jiox
mnt x,y;
x=1;
¥y=2;
swap(&x,&y);
printf("%6d  %6d", x,y);
: return 0;
)
| void swap(int *px, int *py)
14
int temp;
| temp=*px;
*px=*py;
*py=temp;
)






[image: image2]
[image: image3.jpg]4. What is the value of f when the program //P1ogram#4

is executed? - #include<stdio.h>
= 6%
' void update(int f);
int main()
K
! int f;
=1;
update(f);
! printf("%6d", f);
return 0;
Ly
- void update(int f)

5. Look for the correct answer from Table 1 | /P
and check the corresponding checkbox in  #include <stdio.h>

each question. Single option. 8% each. ' int main()

- H{
printf("%din", a); will print int a[]={0,1,2,3,4,5,6,7,8,9};
oa. ob. oc. od. oe. of. og. oh. oi. oj. printf{("%d\n", a);

| printf("%d\n", a+9);
print n", a+9): will print | printf("%d\n", *(a+9));
oa. ob. oc. od. ce. of. og. oh. oi. gj. printf{("%d\n", *a);
£ L return 0;

printf("%d\n", *(a+9)); will print 3

oa. ob. oc. od. e. of. og. oh. oi. oj.

printf("%din", *a); will print
oa. ob. oc. od. oe. of. og. oh. oi. gj.

Table 1.

Do || — D
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. The starting address of array a[].
. The starting address of a[9]
1.0:1,2,3,4,5,6, 7,89

j. None of the above.
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(a) What's the Inorder-Traversal (symmetric order) sequence? (4 marks)
(b) IF the preorder sequence of the binary tree is “ABCDEFGHI”, are there any
other binary trees except above graphic? If there are, plot it! Otherwise,

explain it! (4 marks)

!\J

What condition do you use B-Tree instead of Binary Search? Please detailed

illustrate the condition with your reasons. (6 marks)

3. Please order the following time complexity in descending. (Where n is larger than
1000) (6 marks)
@ O(’) (b)O@’) (c)Om) (d) Ofnlogan) (e) Ologan) () O™  (2)O(1)

PART IIL. Computer Networks (10 marks)

1. Given an IP address 172.16.100.1/22, please answer the following questions:
(a) What is the valid IP range? (b) What is the broadcast address? (c) What is the
network identifier?
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PART I. Programming Language (Total: 70 marks)

1. You are a programmer for the railway corporation. The department of customer
service got an email which complained to chief manager of the ticket vendor bugs.
The mail stated that somebody spent 124 dollars for a ticket, he got 876 coins after
he put one thousand dollars bill into ticket vendor. " How do we image that the
railway ticket vendor is like the slot machine in casino? ; ' It's the most ridiculous I
ever heard in my life. ; Your manager is angry very much saying and request you to

finish the following recursive function to solve the program bug as soon as possible.

Please fill out the blank space Jon following form. (12 marks)

void get_change(int *, int *);
void get_change(int change,int array_dim)

{
int face_vaule_bill[]={500,200,100,50,10,5,1};

int temp=0;
int remain_change=0;
if ((change>0) && (array_dim<7))
{
I/@Write code here to count temp value

cout<<face_vaule_bill[array _dim]<<" dollars * "<<temp<<endl;
//Writc code here to count remain_change value

//©Writc code here to execute the recursive function

1}
int _tmain(int arge, _TCHAR* argv[])

int my_change=0;
cout<<"How much money will be return?:";
cin>>my_change;
cout<<endl ;
get_change(my_change,0);
system("pause”);

}

Rule:
(a) There are 1, 5, 10, 50, 100, 200, 500 face value bill in ticket vendor.
(b)High face value bill is a top priority to return customer.
(c) Function get change(int change, int array dim), Where is:
Change: Initially, users will input the “change” value which is the amount of

return money.



